Instrukcja montazu gmoli/ Installation instruction for crash bars

MODEL HONBU0089

H~ w N

O 00 N O U

W sktad zestawu wchodzi (Rys. 1):
1.
. Orurowanie lewe.

. Uchwyt przedni.

. 2 $ruby M6x20 mm z podktadkami, podktadkami

Orurowanie prawe.

dystansowymi 4 mm i nakretkami.

. Sruba M12x90 mm z podktadka.

. Sruba M12x40 mm z podktadka.

. Sruba M12x60 mm z podktaka.

. Sruba M12x50 mm z podktadka.

. Sruba M8x30 mm z podktadkami i nakretka.

™

L

1

B~ W N

© oo N o W;

The set includes (Fig. 1):
. The right piping.

. The left piping.

. Front bracket

. 2 bolts M6x20 mm with washers, spacer washers 4mm and

nuts.

. M12x90 mm bolt with washer.

M12x40 mm bolt with washer.

. M12x60 mm bolt with washer.
. M12x50 mm bolt with washer.
. M8x30 mm bolt with washers and nut.

&)

%

M=

www.heed.com.pl

/ I

Orurowanie powinno byc¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdécié szczegélng uwage na wigzki
elektryczne, przewody hamulcowe oraz przewody gumowe chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty
podczas eksploatacji o gmole z powodu Zle przeprowadzonego montazu orurowania.

Catos¢ orurowania zatozy¢ swobodnie dopiero na koncu skreci¢ docelowo.

1. Zdemontowac oryginalng plastikowa ostone silnika (Rys. 2 pkt. 10).
2. Zainstalowa¢ uchwyt przedni do stelaza znajdujacego sie pod przednig lampg (Rys. 3 i 6 pkt. 3). Do instalacji uzy¢ 2 srub
M6x20 mm z podktadkami i nakretkami (Rys. 3 i 6 pkt. 4).
3. Wykreci¢ 2 sruby silnikowe z lewej strony motocykla (Rys. 4 pkt. 5i 6). Przy dolnej Srubie nalezy zwréci¢ uwage na tulejke
dystansowg, ktéra ma pozostac na miejscu.
4. Zainstalowac lewe orurowanie (Rys. 5 pkt. 2):
- w tylnej czesci przykreci¢ srubg M12x40 mm (Rys. 5 pkt. 6),
- w przedniej dolnej czesci uzy¢ sruby M12x90 mm (Rys. 5 pkt. 5).
5. Wykreci¢ 2 Sruby silnikowe z prawej strony motocykla analogicznie do kroku 3.
6. Analogicznie do kroku 4 zainstalowac¢ prawe orurowanie:
- w tylnej czesci przykreci¢ srubg M12x50 mm,
- w przedniej dolnej czesci uzy¢ sruby M12x60 mm.
7. Potaczyc bie czesci orurowania (Rys. 6 pkt. 1i2) z uchwytem zainstalowanym pod lampa w kroku 2 (Rys. 6 pkt. 3)
uzywajac Sruby M8x30 mm z zestawu (Rys. 6 pkt. 9).
8. Dokreci¢ docelowo wszystkie Sruby orurowania.
9. Zainstalowac¢ ponownie zdemontowang w kroku 1 ostone silnika.

&)

Piping should be installed only by a qualified person.

Pay particular attention to the electric beams, brake hoses and rubber hoses for engine cooling, so that they are not pinched
or they doesn't chafe during operation due to wrong installation of piping.

During installation it is recommended to set up piping freely.

1. Dismount the original, plastic engine cover (Fig. 2 pt. 10).
2. Install the front bracket to the frame under the headlight (Fig. 3 and 6 pt. 3). Use 2 bolts M6x20 mm with washers and
nuts (Fig. 3 and 6 pt. 4).
3. Unscrew 2 engine bolts on the left side of the motorcycle (Fig. 4 pt. 5 and 6). Pay attention on spacer sleeve on lower bolt,
which should stay on place.
4. Install the left piping (Fig. 5 pt. 2):
- on the rear part screw on by M12x40 mm bolt (Fig. 5 pt. 6),
- on the front lower part use M12x90 mm bolt (Fig. 5 pt. 5).
5. Unscrew 2 engine bolts on the right side of the motorcycle analagously to step 3.
6. Repeat step 4 analogously to install the right piping:
- on the rear part screw on by M12x50 mm,
- on the front lower part use M12x60 mm bolt.
7. Connect right and left pipings (Fig. 6 pt. 1 and 2) with the bracket installed under the lamp in step 2 (Fig. 6 pt. 3) using
M8x30 mm bolt from the installation kit (Fig. 6 pt. 9).
8. Tighten all bolts of piping.

\9. Install again the engine guard dismounted in step 1. /




Instrukcja montazu gmoli/ Installation instruction for crash bars

MODEL HONBU0089

Nk

www.heed.com.pl




